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T4 T—4 1 2 3 4 5 6 7 8 a5t
—_R BB A 56 7 18 10 12 12 2 117
JIE 32 D %4 7 1 3 2 3 4 2 22
Fpaith BitlHER 8 63 10 8 6 4 4 103
JIE 32 D %4 1 9 2 2 2 2 4 22
IHE BEER 16 14 12 9 2 53
JIE 32 D %4 2 2 3 3 1 11
KAR BitlHER 7 18 5 12 6 2. 50
JIE 32 D %4 1 3 1 3 3 2 13
K BitEA 8 18 15 3 4 48
JIE 32 D %4 1 3 3 1 2 10
BER BitER 8 12 10 9 1| 40
JIE 32 D %4 1 2 2 3 1 9
H5E BitBA 16 7 6 8 2 39
JIE 32 D %4 2 1 1 2 1 7
£ BitER 12 10 4 3 4 33
JIE 32 D %4 2 2 1 1 2 8
y--LES BEER 8 10 3 2 3 26
JIE 32 D %4 1 2 1 1 3 8
RKARI BEER 7 6 4 4 11 22
JIE 32 D %4 1 1 1 2 1 6
1~ BitER 5 2 1 8
JIE 32 D %4 1 1 1 3
20D 55ER 120 105 90 75 60 45 30 14| 539
A0 BRLD 15 15 15 15 15 15 15 14| 119



